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Time : 3Hrs. Sem-V /Agri. Engg.
F.S.E.E.
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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11. Estimate the earth work in excavation for an irrigation

channel for 800 meter long, if it is laid on downward
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slope of 1 in 400. The reduced level of bed level of

channel at zero chainage is 56 meter. The bed width
1s 8 meter and side slope 1.5V:1H. The reduced level

of natural ground surface are as follows.

6
Crainaze | 01 100 | 200 | 300 | 400 | 500 | 600 | 700 | 800
RLotgmmdl 60|62 | 59 |58.5(57.7]60.5]61.5] 57.0( 56.0
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Chainage
(m.)

100

200

300

400

500

600

700

800

R.L. of ground
surface (m.)

60

62

59

58.5

57.7

60.5

61.5

57.0

56.0
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The lowest part of structure which transmits
the load to the soil is known as:

(a) Super structure

(b) Plinth

(c) Footing

(d) Lintel

GGl BT 98 AN Sl IR Bl &I W)
A RT Sl 23—

(31) arfer==T

(3) et

() mfeT

(2) foica

In sub base of W.B.M. road which of the
following material is used:

(a) Concrete

(b) Sand

(c) Brick

(d) Pieces of stone
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(vii)  The brick flooring is generally used for:

(a) Workshop
OR (317a1) (b) Godown

(c) Verandah

In the above question calculate quantities of 1:6 (d) None of these

plaster work on walls from inside and also calculate

quantities of 1:4 ceiling plaster work. (vii) S< Bl B3 YT SYINT B oIl 28—
(31) amema A

SWR feU yoa § daRT W) 1:6 W< wiRex (@) Mme™ A

&1 BT ex A B BT A Sd DY qAT (o) axrd #

1:4 Al WRER BT A4 ST N | (]) 379 9@ ®Ig =1 |

8. Describe a bio gas plant by drawing a neat & sketch. (viii) - The type of truss commonly used for span
5 meter to 9 meter:
(a) Queen post
(b) King post
(c) Compound truss
6 (d) None of these
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AR IR g dr & SRYAT &1 9of9 &Y | x) Wl ¥ qRAI @ AFd S a8 sidl 28—
(31) 1500 fHoHio
(3) 1200 fHotio
OR (312rdr) (&) 1600 fHoHio
(%) 2000 fHoHlo

Write various purposes of estimation. ) . . .
purp (xi)  Which ratio of cement sand mortar is most

suitable for ceiling plaster.

Urdel- & faf¥r=1 SRl &1 quiv & | (@) 1:8
(b) 1:4

5. Write the properties of a first class brick. (c) 1:6
4 (d)1:2

gori #oft & T 9 faRtvaren & fad | i) AT wRex & fay @i 91 @

TR @ B4 JAJud Faifed Sugad 2—

(31) 1:8

OR (3121a1) @) 1:4

(@) 1:6

Write some cause of a failure of a foundation. () 1:2
T d o BN B E2A) HRU B o | (xii) A R.C.C. Column has circular section of

500 mm dia and its length is 3m. what will
be quantity of concrete work in column.

6. Describe a couple roof by giving a sketch in brief. () 0.789 cubic meter

4 (b) 0.689 cubic meter
v fgured ere] vd &1 aviq fa=r qrax (c) 0.589 cubic meter
[aT H BN | (d) 0.489 cubic meter
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Answer all Five Questions.

Il uig gl & SR o

4x5=20
(xvi)
2. Write a brief note on maintenance of a poultry

house.
4

At @ T @ rREAY W "ay A e fad |

How many vertical posts are used in a king
post truss.

(a) One

(b) Two

(c) Three

(d) Four

feT dive g9 A foad Sed Gl &1
ST fear sdar 2—

(@) e

(8) <t

(&) =

(]) IR

The minimum depth of foundation for the
load bearing wall of a building is

(a) 500 mm

(b) 600 mm

(c) 400 mm

(d) 900 mm
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